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If a. b. ¢ are real numbers such that @ — b5 = 1. b— ¢ = 3. then the number of matrices of the
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For what values of ‘a’. the system of equations x +y+z=1. 2x + 3y + 2z =2,
ax + ay +2az = 4 will have a unique solution?
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If = 15 a complex number such that |: + 4| > 3. then the smallest value of |: + 3‘ 1S
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If x 1s real. then the interval in which no value of the expression - lies. 1s
2x—°
2(x% +2x-11) |
¥ 85 Dopg wowd, g O3 DITH0 BwE), ) Do Godd voddo
ol
Options :
(2, 5)
1.
(3.6)
2 q
(3.4) Q,\
3 &‘],
(6.8) &
4 O

Question Number : 12 Question Id : 7512364492 Questi ype : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientati ical

The set of all real values of x‘&iﬂg the inequalities x* —4x+ 3 >0 and x* —2x— 8 <0,
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If the roots c. f3. ¥ of the equation x° — 6x* + px + 10 = 0 are in arithmetic progression.

then o’ + B+ 9° =
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a. 3. y are the roots of the cubic equation x° + Pr"l Fpxtp. =0H8 =a"+
S,= 10, S,= 38 and S,;=-1840. then p, =
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The number of 4 letter permutations formed with En iha phabet such that the number
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A student 1s asked to answer 10 out of 13 questions 1n an examination such that he must

answer atleast four questions from the first five questions. The number of choices available
to him 1s
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If the 17® and the 18™ terms il){@pansi{m of (2 + a)™° are equal. then the coefficient of
¥ in the expansion of (a + xJ N
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If the angles of depression of * and bottom of a short building from the top of a tall
building are 30° and 60° resp y. then the ratio of the heights of short and tall buildings
1S
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I[f A+ B+ C=nmn. then sinA —sinB + sinC =
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For n € Z . the general solution of the m’go&etﬂc equation

sinx—ﬁcosx+4sin2x—4J§c052x-@_x—\/§r3053x=0 1S
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For a > 0. if f(x) = ax + b 1s an onto function form [-1. 1] to [0. 2]. then

cot| Tan™ l +Tan™ l 4+ Tan™ l —
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The solution of the equation 2cosh2x+10sinh2x =5 is

2c0sh2x+10sin/i2xy =5 o3 H0E800 By, FES
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If @ and b respectively represent the lengths of a side and a diagonal of a regular pentagon

. . : . b
that 1s mscribed 1 a circle. then — =
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In a right angled triangle. if the difference between the two acute angles is 60°, then the
ratio of the lengths of the hypotenuse and the perpendicular drawn to the hypotenuse from
its opposite vertex 1s
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If the points 27 +3b —¢, @ —2b +3¢. 3G+ Ab —2¢ and @—6b +6¢ are coplanar. then

the direction cosines of the vector A7 —247 +k are

2G+3b 7. G—2b +37. 3G+ AD —2¢ 508050 T—6b +6¢ &3 DodhHen
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IfL, is a line through the point 57 +87 +11k and parallel to the vector 27 +37 + 4k and

L, is a line through the point 47 + 6 + 8k and parallel to the vector 3T+ 47 + 5k . then
the point of intersection of L, and L, is

5T +87 +11k o3 Dokl fom Fé», 27 +37 +4k &3 5845 dsrosdor ¢od B
L, 508050 47 +6] + 8k &3 Dot hoom Fér, 37 +47 +5F 3 56¥% Sdrodbom
€08 Op L,oond, L, 500w Lo pods Do
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a=47+3 j and b are two vectors in the XOY plane and @ is perpendicular to b . Avector
¢ lying in the same plane and having projections 1 and 2 respectively on 7 and b is
XOY-S006* =47 +37 %0005 b oo Bodk $8%e0 5005w a@ & b wowmom
@008, 8B Bood® dotar, . b o SHHm 1,2 00 vow IdFeorr EONS of $8F T
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If OA = 67 + 37 -4k, OB = 27 +k. OC=57 - 7 + 2k are the coterminous edges of a
parallelopiped. then the height of the parallelopiped drawn from the vertex A 1s

OA =67 +3]—4k. OB=2] +k. '&:5?-121\76’\&% $5r088 Hoko B,
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The shortest distance between the lines 7 = ( - +T—k ) + r( 27 +37 k) and

1F=(?—7+2E)+k[—?7+2_7+4]\?) is

F= (=27 +7 —F)+1(2F +37 —F) so00s0 7=(7 =7 +2F ) + k(7 +27 +4F) o3
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The mean deviation from the median of the data 16.22.3.14.5.10.8.6.11.41s
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The variance of the following frequency distribution 1s

Bo8 TR VTR0 BN, IS

Class Interval \q
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If two events E,. E, are such that P(E, uEz):g. P(E;)==. P(E,)=—.thenE, and

I‘x.}|r—l

3
4
E2 are

: P(Ez)zl@-cﬁogéaé.:g & 08,

.1P(E1)= :

' 3
E,. E, o3 3o dbdew, P(E,VE,)= F

oo |t

oy E, 500050 E,e0

Options :
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T8 wbaden Q,v.
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If a die 1s rolled twice and the sum of the numbers appearing on them is observed to be 6.
then the probability that the number 1 appears atleast once on them is

.8 FOESD BodoFrd &80, T8 EAyoB Jopge Indo 6 M HOIOR, TR EABo
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An examination is attempted by 5.000 g:li@tes. 2.000 post-graduates and 1.000 doctorate
holders. The probabilities that a gaéu?na post graduate and a doctorate holder will pass

i 2 3 4 ; i
the examination are —. —. — re@n ely. If one of the examinee passed the examination.

3 4 5
then the probability that he is’agpost-graduate 1S
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The plobablllry distribution of a discrete random @NE‘& X 1s given below.
¥). then 6 E(x— ~ lﬁ

338 Dradan 8ol X286,

HEQ= ) v P(X=:

2.8 2){3;):6_) oircﬁaiﬁ&s' Soord X 3w

E (X% = Z,\‘EP( X==x) m%{(@@ 6 E(X?) - Var(X) =
A

X=x -1 0 1 2
e 1 1 1 1

b= 3 6 6 3
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If X 1s a Poisson variable representing number of s;%&ses in 50 trials such that
2P(X =1)=5P(X = 5) + 2P(X = 3) then the pmbal@ getting success in one trial 1s

50 chened® 2chive Sopgd Srdod f@j@v’% X o358

2PX=1)=5P(X=5)+2P(X=3) & . 08, o8 A& 0S* 205050 FolET IS
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Options : @E
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| 1
Let lim(1+57)" =K and X be the random variable representing number of succusses in

t—0

100 independent trials. If the probability of success in each trial 1s 0.05. then the probability

of getting at least one success 1s

| 1
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If the origin is shifted to a point (/. k) by translation of axes in order to make the equation

X* 4+ 5xy+2y° +5x+6y+7=0 free from first order terms, then
X457 +2)7 +5x+6y+7=0 3Do¥bo H08 Vdrd STed Ssom Sohads
DroDolPH SIr088 ©EH0SES axom (h k) S8& S8\,
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Suppose a line makes an angle of 120° with tl itive direction of X-axis. If the length
of the perpendicular from origin to that lm en the equation of the line is

2.8 S8 X-08H $56%48° 120° B BodSosomro. SureDodd Sod & Spd Ko

0030 FEY 4 vond, & By cﬂ\@ 80

Options :

+—\/§x+ y=8

1
.\/gx+ y=38

2
.\/gr-y =8

3.
.ﬁx +y=-8

4
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Question Number : 45 Question Id : 7512364525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two straight lines are drawn through the point (0, 2) such that the length of the
perpendiculars from the point (4. 4) to these lines are each equal to 2 units. The equation
of the line joming the feet of these perpendiculars 1s

(0, 2) Do) Moot Dotk D8, (4.4) Doy Sood & Tpodh Ko wore DEJHen
068,88 2 crdLk dirssodglotnn A, & voadmols 0w T SEB00

Options :

y+x=35

Question Number : 46 Question Id : 751236452 Q&m Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orier tatan : Vertical

Two points A (—a. 0) and B (((Suu'e given. If C 1s a variable point lying on one side of the
line AB such that |CAB —|CBA = &, where « is a positive constant, then. locus of the
pomnt C 18

A (—a. 0) 508050 B (a. 0) 93 3ok HotoHhod cnm)d. ABOpk o8 39S &8 Ce
w8 $00B Dothd [CAB—[CBA=a, s Jorodsm, edgbinm @od, C Gy,
Doloddo

Options :

a*+ x> +y* + 2xy cotar=0
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P 2 2
a—x+y +2xycota=0

2
2 2
a*—x* —y* + 2xytana=0
3.
a’—x*+y° + 2xytana=0
4

Question Number : 47 Question Id : 7512364527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the angle between the pair of lines x* + 2\5,1’_1* +ky* =0,k >0 is 45°, then the area

(1n square units) of the triangle formed by the pair of b@tors of angles between the
given lines and the line x + 2y +1=01is N

x*+ Z\E.n-* +h*=0.k>0 3 S ainifyo o 0 45° @08, & Speo Ddgie S
DBoBePpodS Sgradnro Hododw x + 2y + poS’ JHT Bhao D), IToghn

(56569 0rdLS’) é
Options :
5 Q/V’
Z.

o A

1
2,
2
=
3
3
2
4

Question Number : 48 Question Id : 7512364528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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If d 1s the distance between the point of intersection of the lines

x> +4xy +k? —4x— 10y + 3 =0 and the origin and p is the product of the
perpendicular distances from the origin to these lines. then i 20p2 =

deods X +4xy+ kb’ —4x— 10y + 3 = 03pe podsd DocoPE dakn SaredocoPHss
DFgie drddn DO p e38 Jurododd od & Tpok o voadrTe OB
wond, d°—20p* =

3
4

> Q,S)
2 ‘v

Question Number : 49 Question Id : 75123 estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option tion : Vertical

A line meets the coordinate axes at A and B. If the perpendicular distances from A and B

to the tangent drawn at the origin to the circumcircle of AOAB are m and » respectively.
then the diameter of that circle 1s

28 3p AirdsFod Addn Bo ¢ podded. @hudn OAB Gng), 505)E08
SoreDod) $¢ HosS Yot ASdcin Beo $00d fo vondroras Sdm m Sodoko n
@008, & 5o Dg) Tg0kw0

Options :
m-++n
2
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.3(m+n)

4
=
m-n
3
2(m+n)
4.

Question Number : 50 Question Id : 7512364530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The centre of the circle passing through the point (0. 1) and touching the curve y = x* at

(2.4)1s ,\q

e
2.
-4 2
(7‘3)
Gt
'[-16 53)
5 10
4

Question Number : 51 Question Id : 7512364531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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If the number of common tangents to the pair of circles x* + y* — 2x + 4y -4 = 0 and
x*+17 +4x — 4y + o= 0 is 4 then the least integral value of « is

XY -2 +4y4=0%08050 X+ +4x—4dy+a= 058 cdoormR8 o wdod
PO pe Jopg 4 @owd, o GoE), Y FTod Jend

Options :
1.

5
2.
: N}

7 A

4 Q/
Question Number : 52 Question Id : 7512364532 Questio CQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : V

The equation of a circle of radius 5 thouching another circle x* +1? —2x—4y-20=0

at(5.5)1s
&‘b

5 cardiy grdor §OA, X° +)7 —2x — 4y —20 =0 &3 58880 (5. 5) 58 SyEod
S5BB50 B, ddYo

Options :

¥+ +18x+16y—-220=0

: 1
P+ —x—-y—40=0
4,
¥+ +2x—3y-45=0
-4
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¥ +12—18x—16y+120=0

Question Number : 53 Question Id : 7512364533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of a circle concentric with the circle x* + 3> — 6x + 12y + 15 =0 and having
area that 1s twice the area of the given circle 1s

X+y —6x+12y+15=0 S5y808® J8Bogom wobar, $& S)E ITor gl Todode
STo 0 EOND [ Hab B0

Options :

X+ —6x+12y-15=0
P+ —6x+12y-30=0

2 2
¥ +y —6x+12y-60=0
3. Qy.
X +y*—6x+12y+15 :»GSO

Question Number : 54 Question Id : 7512364534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the locus of a point which divides a chord with slope 2 of the parabola y* = 4x. internally
in the ratio 1:3 1s a parabola. then 1ts vertex 1s

_1-‘2:4.1"9’30‘5&::0:&?&)% 2 oo fo 2.8 @ 1:330)8S° woddor podoBd Do) Bws),
DoDEIN 8 JorSwohdn vand, Tt 385w

Options :

(2. 1)
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b9 | W
e

2.
(33
4716
=,
&3
16 4
4.

Question Number : 55 Question Id : 7512364535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the normal at one end of the latus rectum of the p 1~ = 16x meets the X-axis at
the pomnt P. then the length of the chord passing gh P and perpendicular to the

normal 1s &

= 16x Sordecihdn D), THoow & ?éécﬁ Hod edoouty X-ogd) PS¢
3

po& R, PlordFdr ¢ odooudpio ™ &oB oy PUEY

Options :

48\2
. '\

Question Number : 56 Question Id : 7512364536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : If the tangent and normal to the ellipse 9x* + 163;-'2 = 144 at the point

p(%) on it meet the major axis in Q and R respectively. then QR =%

&2 o

Reason (R): If the tangent and normal to the ellipse —2+';—,,=l at the point
¥ 2

P(0) on it meet the major axis in Q and R respectively. then
a’sin® @ —b? cos’ 4|
acosé@ |

QR=

D SEGS0 (A) : 97 + 167 = 144 HE S50 P(g) DoOP 5 HidS D)o Hodow

wHeondpen SHJIM T Lo nERQ) Q:)JSOQR o3 DodoYeo 5§ 8O,

S
SRS QR——7

S
o2
560 R): 5+ ;—2—1 BY 58500 P@m@ 3¢ ADS SyEde $o80%0

a

edooudpen SKHJIT T o) Qiodasn Red dododho 3¢ 07,

wSyd QR=

9

The correct answer 1s / é&@é&rmém

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A).
. (A) $08050 (R) o0 Bodr Sdgdwen $0dasn (A) & (R) 98 @ond Jddes.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 508050 (R)en Todor S¢gdnen H08ciw (A) % (R) 30 wond Jdde 5.

(A) is true but (R) 1s false. / (A) S&g50 52 (R) ed&gion.

1 E
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(A) 1s false but (R) 1s true. / (A) 38550 570 (R) Sz,

Question Number : 57 Question Id : 7512364537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ﬁ

If x+y+n=0.n>0is anormal to the ellipse x* + 33" =3 andx + my+3=0.m<0is a
tangent to the ellipse x* + 5y” = 5. then the point of intersection of these two lines satisfy
the equation

X+ 3y? =3 8E 5)em08 HRS ¥ wPooedp x+y+n=0,n>0 Jo8asw 4+ 57 =
5%}5&@35 AS o8 éﬂjdﬁm x+my+3=0.m<0eo0d, & 3ok S8¢3p0 podsd Hoko
SyH08 SwEGeaion

Options : I q

Question Number : 58 Question Id : 7512364538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The product of lengths of the perpendiculars from any point of the hyperbola x> —1* =8 to
1ts asymptotes 1s

¥ — ) =8 08507500050 BT Dok K08 T Bdos HEBpens AdS vonte

LI 0RO

Options :
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2

1.
.
D
=)
4
3,
8
4.

Question Number : 59 Question Id : 7512364539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a triangle ABC with two vertices A(5. 4. 6) and B(1. —@ﬁas its centroid at (% 2, %) .
then the third vertex C is &W

A(5. 4. 6) 508050 B(l.-1. 3) & 3ok fo |@zhaio ABC Goo¥), So@ardhn

(E 2 E) ©a0d, Hordd ¥H0 Cv.

I

- -
D -

Options : &%

(4.2.3)

—4.-3,2)

&
(4.3.2)

3

i (2. 4.3)

Question Number : 60 Question Id : 7512364540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Let ABC be a triangle with A (. 5. ). B (2. 1. 6) and C (1. 0. —3) as its vertices. If the
median through B is equally inclined to the coordinate axes. then o + g =

A(a.5.B).B(=2.1.6) 508050 C(1.0,-3) o0 3vnenr o @zhasn ABC osiomdw.
B oo ARS8 Sogghigop Asrarres Sdrdfore T, o+ f =

Options :
7 B
12
2
s- D
. Q’:\
Question Number : 61 Question Id : 7512364541 Questio “MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : $

, . o : 6
The equation of the plane in castestan form. which is at a distance of ﬁ from the
origin and 1ts normal vectorm from the origin being 2; — 3; +4k . is

6 gk
Sreododng Hod 7_}——9- SrdoeS® wobr, 2i —3j+4k o oo ok AR

LORRRIT o ol B, DAEG S0 s*fzadn drddns’

Options :
2x—3y+4z=6
L.
2x+3y—4z=
Z.
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2+ 3y +4z=—

Question Number : 62 Question Id : 7512364542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

| 4
sin /12x ) 12
lim =
x—0 2x
Options :

Y,

Question Number : 63 Question Id : 7512364543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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—C0S2
a[l CC;S"'T). for x<0
X

If the function /: R— R defined by f(x)=1:b . for x=10

vx . for x>0

4++/x -2
1s continuous atx =0. thena + b=
a[l-cc;slr} ¥<0%
&

flx)=4%b , x=08% m J¥gDoBeds Whohdw 1 R—- R o038 x=058

Jx
| 4+\/_¥_2- x>0% \q

QO
@5):‘3@@33&3 wond, a+b= «W
Options : Q/
W

&

2, " &@
6
3
8
4

Question Number : 64 Question Id : 7512364544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If f(x)=C€ osh'l[:—x) is well defined. then f'(x) =
X

f(x)= Cosll'l[f‘—) JSoES0T DS, f(x) =
%

Options :

-1

(l+x)\/—7

l

(1+x)/x

-1

A
(1+x)\/; ()%
N

1 ¥
(14 x)V-x &%

Question Number : 65 Question Id : 7512364545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the items of List - I with those of List - II

List-1 List- 11
| v
A) If y=|x|+|x—2| then. atx=2. ¢ i D 2
B) If fx)= |cos 2x‘ then f ' [% +) = m o0
o) If f(x)=sinz|x] where [x] is the i 2

ereatest integer function. then f'(1-)

IV) does not exist

O

T TR, S

e -1 "l/ e - 11

D) If+f(_r):10g|x_ll~x¢1 then f’(%)

A)  y=x+|x—2 sons x=25¢ D 2
B) f(x)=|cos2xwons 1 f’[i m o
& f(x)=smz:[x].[x]'@§)e§ m) -2
oo Biabsn wawod, f(1-)=
D) f(x)=logjx—1|. x#1 a8, 'f'(%} IV) 5555850 s

The correct matching 1s
20 o &

Options :

1 E
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A B C D
. W @ ] i
8 B £ B
. W I W 3
& B € P
. I 1 m I

Question Number : 66 Question Id : 7512364546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

" = .
If =~ =4 and i—;:- =—3 at a point P on the curve y = f(x). then

dx dx Yy ey
N

2,
ta

x

I

y=fx) &3 S0 Ped Do 3¢ —=Q/ o5 —==-3 wona, ol B

Options : §

«3
4
2.
3
16
=,
B
64
4,

Question Number : 67 Question Id : 7512364547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The approximate value of Tan™(0.999) (upto 4 decimal places) is

Tan™(0.999) ¥, segonod) Jeos (4 870 Foro SEK)

Options :

0.7852

0.7102

0.8124

0.7526 q
4 N
Q

Question Number : 68 Question Id : 7512364548 Question Type : MC Dptink Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the normal to the curve y = f(x) at (1. 2) m@ angle 3 % with positive X-axis. then

f()= Q/?

y=10) 5508 (1. 2) Dossgy Evs whoonty &5 X egins' 7 sad) 3%
ey

Options :

0
i

1
2.

2
3.

3
4.
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Question Number : 69 Question Id : 7512364549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of real roots of the equation ¢ +logx+x—2=0. x # 0. is

e +logx+x-2=0, x # 0 3058 Ko TYS Sarere dopy

Options :

2

O
q,Q’\
A
4 Q/
O

Question Number : 70 Question Id : 7512364550 Questio CQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation

Letf:D>R.D < R.ce Dan Z non zero real number. Consider the following

statements:
1.  c1san extreme point o@ 1s an extreme point of 7f

ii. cisanextreme point of £ = ¢ is an extreme point of 7+ f

f:D—>R.D S R.ce Dobosin 1 3588 785 Sopy ©0808. §od HISToH
80808

. cod3b fRBnE, uE ©odihotd) = ¢ o3 1f BwE) wE wodDoY

. ceodd fBnE uE ©odghotd) = ¢ o3 r+fBwE), 2.8 ©odgDEHY

Which of the following 1s correct?
& 808 TIS® 2B HSg0

Options :

collegedunia

—



Only (1) 1s true
(i) SrES> Seg5%

Only (11) 1s true
(if) SomE3> HSg500

Both (1) and (11) are true
(i) 08050 (i) @0 Bods HBgHnen

Neither (1) nor (11) 1s true

D
(1) Sododa (11) &0 Todos Dégbnen 57 ‘»Q

Question Number : 71 Question Id : 7512364551 Question Typ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertigé

| dx 3
J‘(l+:\r)\[8+7:4r—3;'2 . @v.
&2

Options :
2 |8—x
—— +C
9V1+x
1.
1 |1+ x
—— +c
OV8—x
>4
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2 [1+x

-= +c
9V8—x
3.
-2 8+ x
= +c
OVI1+x
4.

Question Number : 72 Question Id : 7512364552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

dx =

J‘x3 +2x
Y +4

Options :

1 | —

Tall_l(—\-klﬁg ' +c
VA | >

il Y . [Fd)
E-Tan L?J—logt = J-+c
LTan“l(x2+2\+c

e )
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Question Number : 73 Question Id : 7512364553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

x+1
I —dx =
x(l+.re*)
Options :
14xe™
log +c
x+1
1
2
x+1)e*
log ( )x +c
l+e
3.
xe'
logl——|+¢
x+e
4

Question Number : 74 Question Id : 7512364554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Isecs Y dy =

Options :

q

3

1 ) :
75 tan” x + gsecxtanx+ Z(log secx+tanx)+c

-

el
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1 5 3
—tan” xsecx+—secxtanx +=log(secx + tanx)+c
4 8 8
2.
- 3 3
—sec” xtanx+—secxtanx+—log(secx +tanx)+c
4 8 4
2.
1 ¢ 1l 3
—secxtan’ x+—secxtanx+—log(secx+tanx)+c
4 8 4
4,
Question Number : 75 Question Id : 7512364555 Question Type : MCQ Option ShueTng : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

N

<0

L cot’ xdx= &
| &

Options : é

- IR
- 1
ﬁ-—:logz
P
25 1
—+—log?2
24 2
=
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Question Number : 76 Question Id : 7512364556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let f(x) be an even function with period 2 and f(x) be integrable on every interval. If

X

g(*"'] > jf(f)df. then g(x +2) =

0

f(x) 38 58 ©0850s® HErELIcHED 08050 flX) 8B 2-e5E5S0m Ko H$6 HHI5B0

esosomsn. g(x)= ]‘f(r)dr wond, gx+2)= ,\q

0

Options :

éo
g(x) +g(2) V’
: &
,{o

glx)

g(2)

Question Number : 77 Question Id : 7512364557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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1
Let [x] be greatest integer function. Then I[T + 2[1' +2 [1]]] dx =
-3

1
[x] K8&% Fropos (HRocsdn et od. eyl J‘[‘H’ Z[I # 2[1‘]]] dx =
4

0
-k q
2 Q,\
4 &‘\r
3. ()Q/
10 é

Question Number : 78 Question Id : ‘?5123& uestion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orienvation : Vertical

If k and / respectively are the order and degree of the differential equation whose general
solution represents the family of circles of constant radius, then k% + /% =

0 J’g@gmﬁ@ L’)ag.a‘: 80002y BrD0B ViS00 e FEIM e edfed Hoddadn
0§, HOBFeaBD Bo00sw BEKSe SEBM kB8csn [wwd, k2 +1°=

Options :
2
1.
6
2
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Question Number : 79 Question Id : 7512364559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. . . . dy .
The solution of the differential equation 7 =1~-cos(y—x)cot(y—x) is
X

%:1—cos(_1*—_r)cot(_v—x) 380N SoEd S S8, TGN

‘ N

Options :

. xtan(y—x)=c 4/&
x=tan(y—x)+c é)
5 Q,v.
x=sec(y—x)+c %
A

x+sec(y—x)=c

Question Number : 80 Question Id : 7512364560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

dy

The general solution of the differential equation (ysinx+ y) % cos’x=0
X
: dy 2
(ysinx+ J')d—— cos“x =0 vifod SDEsasn B FTbn FES
X
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Options :

o

y=2—C08xF¢€
; 8
y=1+smx+c
4
2 .
y=2x-2s8imx+c
3
2
y' =2x+2c08x+¢
4.
Display Number Panel:
Group All Questions:
Question Number : 81 Question Id : 7512364561 Ques e : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Drientati% ical

Albert Emstein was conferred(yth the Nobel Prize in physics for his work on:

seNd DIRIE & §ob STTOTR) (REFHoVIoBHE JBS advdrdo $0oR0b.

Options :
Special theory of relativity

A Foiae T80

Bose-Emstein statistics
5‘5-55§5 Negrod a‘@m
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Photoelectric effect
FE* g HOSBW

General relativity

o s
4.

Question Number : 82 Question Id : 7512364562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A quantity z. to be estimated has a dependency on the variables a. b and ¢ as = = ab’*c™.

The percentage of error in the measurement of a. b and ¢ are respectively 2.1%. 1.3% and
2.2%. The percentage of error in the measurement of = would then be

S50 BoUT EQJVS 078 Z &IH FETHoen a. bBodain &=abzc"2rr= ST EHEE0H.
a. b 56050 ¢ © Fods® Sarssn 5&5m 2.1%, k.&a)aofm 2.2% wond oS’

08 ST o, &
Options : :%

5.6% é
: I
1.6% Q/v.
&

1.0%

9.1%

Question Number : 83 Question Id : 7512364563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The nature of graph drawn for a freely falling body with time on the x-axis and speed on
the y-axis 1s (Assuming initial speed to be zero)

500 X-0E0 D&, S8 y-wfo & €080, "’Eoﬂgrﬁgﬁ‘ BOS80 DB SBYHE HS ) B0,
Berdd, (870 58 o)) ol eHFol)

Options :
a straight line with positive y-axis intercept.
S 88 y-go @08:podIns" &) el SY¥ Op

a straight line passing through origin.

SareDothy) od 3% $8¢ 3 O)
2. Q\

a parabola. QI

. A
" 28 DTN &

a straight line parallel to y-axis 1?9 ositive X-axis intercept.
dﬁa‘ééé X250 @08:p0d00 ) V058 arosiom o w8 Q0§ 1
4. &

Question Number : 84 Question Id : 7512364564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle A moves along the line y = 30 m with a constant velocity v parallel to x-axis.
At the moment particle A passes the y-axis. a particle B starts from origin with zero initial

speed and a constant acceleration @ =0.40 m/sec”. The angle between & and y-axis is

60°. If particles A and B collide after sometime, then the value of |Tf| will be

X-05d8 SSrodbor REIMo V & Bp ¥y =30 mIob o Emo A FO8308. Emo A,

Y-oF) T §eo S8, Lo 80 56, RS Sgdmo d =040 m/sec’ & 58 w0 B
SreDohy ood @EosYEed. d §r HH0c» yordb Hogy 0o 60° Fodsvo
8678 Seren A 508050 B 8508, [V] 2e0s,
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th
A ball moves one-fourth [i ] of a circle of radius R uStipe T. Let v, and v, be magnitudes

of mean speed and mean velocity vector. Tll@g v_l will be

'[l 1
Fggo Rifo 8 aééﬁ-&mﬁ% Z}“éo oo TS a8 208 K008, St 5&

[

A"/
8050 Jifcan K HH¥ HOSrTrer V, Ho8okn V, ©080B, —L IS,
2 v,
Options :
/4
2
1.
3
T
2
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A 4 kg object has a velocity (S,Of ) nys at some mstant. Eight seconds later. its velocity 1s

(S.Of +10.0 ) nv/s. Assuming that the object i1s subjected to a constant net force. the

magnitude of the force 1s ,\0)

N

o8 4kg 509% 5§ oo 3§ do 3o (3*0:'“),{5. INB DES Shad T IKo

(8.07 +10.0 /) ms. 509 8 RS S S $089 BHE0H, & o HOST0O,

= wa
1. &%

N
g
2.
&85 N
3
o4
1043
&
4
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A block of mass 10 kg. initially at rest. makes a downward motion on 45° inclined plane.
Then the distance travelled by the block after 2 seconds is

(Assume the coefficient of kinetic friction to be 0.3 and g = 10 ms™)

ES550°3 10 kg fe o8 &), O T 0’ God, 45° Tendeo 08, of'Sny SoTR)
B808. ©and, 2DEHw SHTdE &) Poirdod Erdo,

(82 2odeo Koevko 0.3 R, Ho8c50 g=10Ms e ©580d)

Options :

4, &
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Conservative forces are defined as the forces for which.

2ol & (§08 ofra wol T8 SodEE wereum™ AGDTK.

Options :

Work done depends only on the initial and final positions.

9 S0 SO JT© W& SEGD> 20AS B eFrdidd
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Work done depends on the initial and final positions and also on the path taken.
2808 HV, FO, & @ga*@';‘_._ﬁ 8 e"‘s"méoél DPoWS ErE sTEHES

Work done depends only on the path taken.
2008 I BEN) HE0D IrGED SFEHLS

Work done depends only on the mitial position.
2808 I SOTI0P SrED sFTddes
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A rocket motor consumes 100 kg of fuel per secon usting 1t with a speed of 5 km/s.

i
The speed of the rocket when its mass 1s redu %%0 of 1ts initial mass. 1s
(Assume 1nitial speed to be zero and 1 gno!@)vitational and viscous forces)

8 T8 Jorboth DED K 100kge ) AASooho Bdz, AN SkM/s 5&8° D808,
Td &0 Gigoast Yo & @ SFenind 0B Sk, 35
(80 3& o) wHoFR, dada%ﬁiea. e oo G wfodod)

Options :

20 kmy/s

40 /n(2) k/s

5 n(20) kny/'s

10 /n(10) km/s

collegedunia

—



Question Number : 90 Question Id : 7512364570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ball A of mass 50 gm and speed 10 mv/s collides with ball B of mass 10 gm and speed 15 m/s
travelling in opposite direction with each other. Determine the final speed of ball B if the

: U
coefficient of restitution 1s T

D850 S3E80E HFS® |HSred i) ok woden, 55073 S0 gm 0/ 10 M/SIESE &8

2
208 A (8550°2 10 gm 80 5& 15m/5 & &b 208 B §8oérow. REgH8 sl =

eond, 208 B Swg), D& I8 HBotod.
Options :

@-m/s

)\b
3 Q
Vv

e (32:\
. Y§
91 Q/
— 1S
g ! &
.%mfs
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A solid sphere of mass 5 kg rolls on a plane surface. Find its kinetic energy at an instant
when its centre moves with speed 4 nv/s

B350°8 5 kg o 2.8 DIFFI0 2.8 Sde &H880ond FH&0d. (B550°8 Soddn &

g
4m/s & SOXN) .8 0 Y T K8z 8 E308) 0&.

Options :

—
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A body of mass 0.3 kg hangs by a spring with a force cm&h{%’ 50 N/m. The amplitude

of oscillations 1s damped and reaches - of its orig lue 1n about 100 oscillations.

If w and ®'are the angular frequencies of undam;Q}u damped oscillations respectively.
then percentage of [ = w’) 15 o

0,
poRoroso 50 N/m e @y wﬁw- g BSgoraie wl SN Ierdodod. B SoTe

|

Eod8 S80S @56&%0 s, 100 Sogods® o0 STOE Jendes = Sohody 28

DB 0LROB. BIWE, ¥INE Soare §Ha% ST g0 SHJ™ MBS M w0,

( o—
@

J TS0 DN,

Options :
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velocity from its surface is 8 x 10* nv/s. then hould be the radius of the sphere?

If a planet of mass 6.4 x 10* kg can be compr s&ﬂo a sphere such that the escape
(LetG=6.6 x 107" Nm” kg™) é

BSgo°3 6.4 % 10 kg Ko $5e a&é&:o 000 SercHd Ido 8 x 10* m/s
Godosum (PAQ) w¥ Fdormr & RoBoRIH, wond & FEH Tgrgdn Jod
&0t008? (G=6.6 10-“ &50508)

Options :

40.4 km

13.2 km

20.4 km

6.8 km
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A horizontal aluminium rod of diameter 4 cm projects 6 cm from a wall. An object of
mass 400 rt kg 1s suspended from the end of the rod. The shear modulus of aluminium 1s
3 % 10" N/m”. The vertical deflection of the end of the rod is (Let g=10 m/s?)

Jrgeaow 4cm Ho a8 §82 J5088 ©orrgdodoio é% 2.8 A* SooD) 6cm o HEN006.
& 58 5% Sood \BS550°3 400 Tkg Ko 2.8 39 IrdbdT . wergdooio GB0E),
B (Derdes) Koseo 3 x 1070 N/M’. o8 & 5§ 58 0B deny) ©d5855®,

(g=10 m/s* @ &8 08a)

Options :

0.01 mm
O
0.02 mm ‘]9,\
A
0.03 mm ()Q,
S
0.04 mm @
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A water tank kept on the ground has an orifice of 2 mun diameter on the vertical side. What

1s the mimnimum height of the water above the orifice for which the output flow of water 1s
found to be turbulent? (Assume g= 10 m/s>, p___ = 10° kg/m’. viscosity = 1 centi poise)

water

G0 B GodS DB Lrof, T Jend IPS TgHEw 2 MM fe So@sn wod. HE
LEYE Baro Sofmo oS3R8, T SoErds I VB8 SodSodS §IF I& Jod?

(g=10m/s%, p, = 10° kg/nr’. )& = 1 Do Fons)
Options :

3cm
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4 cm

2.

6 cm
=

2cm
4.
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A copper ball of radius 3.0 mm falls in an oil tank of viscosity 1 kg/m-s. Then. the terminal
velocity of the copper ball will be (Density of oil = 1.5 x 10° kg/m’. Density of
Copper =9 * 10° kg/m’ and g = 10 m/s’)

N

28 1 kg/mes fio S8 ergosos™s Tgrgsn 3.0 m@w 208 HE:808. ©od, TR
2088 Eenkd $ES 3o (Brd Fogs = 1.5 x)(’k,_ m’, o°A Fods =9 x 10° kg/m’

$560%0 g =10 m/s%)
Options : éo%
18 x 1072 m/s v,

1. @
25 x 1072 m/s &@

2.
15 x 102 m/s
=
20 % 1072 m/s
4,
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The wavelength of the radiation emitted by a black body is 1 mm and the Wien’s constant
is 3 » 10~ m-K. Then the temperature of the black body will be

i

2.8 5)3 S0 &T008 J880Y édoﬁ@%éﬁ 1 mm 08050 IS '{30"050 3x10° m-K
SonB, §R SXNH D), GBI,

Options :
3K
ks
30K
.
300K q
= \
3000 K ‘ L
4. Q/
Question Number : 98 Question Id : 7512364578 Questio +MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : v

A hot body placed i air cools d{“ﬂo a lower temperature. The rate of decrease of

temperature 1s proportional t ?}eramre difference from the surrounding. The body
loses 60% and 80% of ulaxuﬂ%u eat 1t can loose 1 time 7, and 7, respectively. The ratio

1/t will be :

mOS* G0l 8 38 5HY 85,3 SFWSE Toakh&0d. LSS SHde Biw, Hodoe
200 G508 e T8 VNS BIrHFSom Gotnod. & ISP S FSHYKTA K04
&208° 60% S080i0 80% & SKHIM 1508050 1,57008° FSHK08. PR 1/ 5 ¢oB

(¥

0D

Options :
In (10)
n(2)
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In(6)
.h?(4)
In(3)
n(5)

5
4 h?(i)

Question Number : 99 Question Id : 7512364579 Question Type : MCQ Option S @ : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A Carnot engine with efficiency 1 operates between G@eat reservoirs with temperatures
T, and T, where T, > T,. If only T, 1s changed b&.ﬁl 7o. the change i efficiency 1s An,.

An,

whereas if only T, 1s changed by 0.2%. the ncy 1s changed by An,. The ratio

An,
is approximately $

eiden T, 8050 T, o Boa?aoﬁra 3085 N &ES Ko 578 0%0B0 RTOE0HH08,
28 é T, > T, 0.4%axo TA 8D S8, SE8ST S8y An,, ewérms 0.2% oo

ﬂ é‘)‘?’qﬁ a0 DB

T, Sr@d Sr8ydYcdo, SESS' Sorddy A, @008 .
> - N2

Options :
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An ideal gas 1n a closed container 1s heated so that the final rms speed of the gas particles
increases by 2 times the mitial rms speed. If the mitial gas temperature 1s 27 °C. then the
final temperature of the 1deal gas 1s

DIV >SS’ tyé} 28 @Cﬁdgs}“cﬁw@& FEDVSH P, &8 J05w Segre MS B, TR O
ms S8 Bodd (2) Bew wHHE08. Tain 8O G S 27 °C vond, sdl) o0
SWoE), S8 LS

Options : q
1200 °C Q,\
Y &‘\r
&
927 °C O
2. R\

827 °C @v’
: &9

1473 °C
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Consider two tuning forks with natural frequency 250 Hz. One 1s moving away and another

1s moving towards a stationary observer at same speed. If the observer hears beats of frequency
5 Hz. then the speed of the tuning fork is (Given speed of sound wave is 350 m/s)

SFres Fdedgion 250 Hz e Tod 1908 domrosh S8idolod. dfjoomr &d) S030d
3000 .88 Srdorr SO, Todsd H0FBE IY ©8 88 IO, FS:PSgo S Hz e
DdoEToH HoH Job, ®eLoEY $&, (Gerodo: G SSorD & 350 m/s)

Options :
2.5m/s
1.
3.5m/
e &
5.0 nvs q,Q
3 «
2.0 m/s &
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A drone fitted with siren 1s g directly away from the drone operator and towards a
distant building at a speed of 15 m/s. The siren produces sound of frequency 780 Hz.
What is the frequency that the operator hears in the echo reflected from the building

[Speed of sound 1s 340 nv/s]

RIS DAoTES 8 IF'S, T RTORNE Dod PEgiomr drdormrds, drdorm &S
F550IYB 15 m/s 88 HHE0d. FEYPSgo 780 Hz e §AQ RIS ré§ BH08.
F3508000) Ho°8GH0 BoB (DS PTresud IT DIYSgo Jod?

[$02 $5& 340 nv/s]

Options :

766 Hz
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800 Hz

816 Hz

840 Hz
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A point object ‘O 1s placed on the axis of a cylindrical piece of glass of refractive index

1.6 as shown in the figure. One surface of the glass piece 1s %ﬁiex with radius of curvature
3 mm. The point appeared to be at 5 mm on the axis wheigéwed along the axis and from
right side of convex surface. The distance of the poi ct from the convex surface 1s

HLOS® Wb, SBLSS eeso 1.6 Ko 8 merdng) (8L80) BwE) iowd
DoETS dND) ‘O’ D GodT. & ey &8 @Hddwo, HEe argrfo 3 mm e
80027580, B0275°8 & R8Swo ToE ) oD oo Jod VEoNIHE, & DoY)
©FORN S M 3& &S éﬁ}g@%zg)é 2002758 ¢R0800 o NoBETD JNJ

Fog) Srdo, &@

Oe

N
/

Options :

6 mm

3 mm
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The limit of resolution of a telescope is 2.5 * 107 radians. If the telescope is used to
detect light of wavelength 500 nm coming from a star. the diameter of the objective lens
used by the telescope 1s:

o8 BrESBN 8)E% S HBWS 2.5 x 107380%0%0. o8 S§Eo %00 Iewsd 500 nm o
8508g sol0 5708 FHOBETIE & ErdEBIN TESLaS, & ErSEEIE TES $i

Options : \q

244 cm &q,Q
8 %
O

258 cm é

580 5‘530,

P @v.
228 cm @

. A
264 cm

4.
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A non-conducting solid sphere has radius R and uniform charge density. A spherical cavity

of radmus % 1s hollowed out of the sphere. The distance between center of sphere and

center of cavity 1s % . If the charge of the sphere 1s Q after the creation of the cavity and

Q

the magnitude of electric field at the center of the cavity is E = K[ r— ] . determine
ne R~

the approximate value of K

o8 OTEE Hofdo Tggo R So0cho DE68 DeogmI FoEEs KOh wod. & Fdo
$00 B/ agrgo o Aess Swod) hem §005%. 76 Bogosr, S8 ook

gy drdo % §LTR) JYRoWS LTS A'¥Y DdogrRdo Q Hodddw FLd Soo 3¢

47e ,R*

Options :
0.32 (5(':\

' 0.78 Q/$
| 9

Do B HoSrwo E = K( Q } wo0d, K @@wa DenSsy ERoRSob:
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A metal plate of thickness 2 mm and area 36 7t cm” is slid into a parallel plate capacitor of
plate spacing 6 mm and area 36  cm”. The metal plate is at a distance 3 mm from one of

the plates. What is the capacitance of this arrangement? {Let —9x10°Nm2C>2 ]

4me

So¥ woddo 6 mm H6a5n BTogo 36 Tem’ Ko HSrods Hof BIHLES'E, oo
2mm, SFeogo 36T cm’ Ko o€ ST Dot FoATE. 'R 8 Jo¥ Jood 3mm o
Er8oeS’ & 'Y Jof God. & o0 BwE), FFHBY) Jod?

[ : =9x10°Nm’C > éa::ng*o&]

4ne
1 8 pF Q,\q
«‘\z
15 pF Q/
2 éo

_2 &
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For the circuit shown in the figure. calculate the resistance between the points A and B.

5008° FrHS S0csrS, DodHer AHcsn Be s 38T Adosod.

I5R
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If the resistances are chosen for the circuit shown in figure i such a way that no current
flows through the battery with emf E, . the voltage V, across R, and the current I, flowing
through R; are respectively.

B5E06* S8 Socirds, emfE, feo ergtsb oo Dy mdrin HSrossiom A8 Te
dothad. R,y FGeV, Sodoin R, oo @8rod ddgéairo Lo devden
NTevhelon

YW
’ Bl wy
1 2L
29T . By~ 28
b % : O
N

e
|l
gL
-~
0
>
Ce
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A semu circular loop of radius 30 cm wire carries current 6 A. An uniform magnetic field

0.5 T 1s present perpendicular to the plane of the loop. What 1s the magnitude of force
exerted on the wire.

Frgrgo 30 cmiie ©f SHosd 8 0rYS* 6 AJBYETH0 &od. o) S8 wowoT
0.5 Teo 2868 vcham o8 o wod. 8 A wewo HoSrwo

Options :

09N

1.8 N

O
0.8N (19,\

1.4N
4, §
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A dielectric circular disk of radmus R carries a uniform surface charge density . If it
rotates about its axis with angular velocity . the magnetic field at the centre of disk 1s :

a8 DEogs AG'EE fams s D) Tg¥rgo R o0 2 868 do Jogerd¥ Foé 0 &od.
o8 5’500 Jo 0 & S5 v¥o Job PAHoh: @ovd HY oo ¢ B o8 o

Options :

uocng
2n
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2
2,
2
1,0 R
4
.
HoomR
22
4.
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The earth’s magnetic field at the geometric poles is 10~ T. The magnitude of the

field at a point on earth’s surface where the ra&makes an angle 6 with the axis of
earth’s assumed magnetic dipole is 5 » 10™T agnitude of 6 in degrees 1s

é()

ISR (oI G Frdo BwE), @@Qé {80 : [40%107° T. ©OFY 08 HE ST
TA0NS P g0, T TEFoWER0 T 2 GddEoRS Ko wl Dok ¢
é08 ©0008 B $05r00g 0T, ©and ‘0’ Hodrmo Sfos”

Options :

30
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Consider a current in a circuit falls from 6.0 A to 1.0 A mn 0.2 s. If an average emf of
150 V 1s induced by the circuit. then the self inductance of the circuit is:

28 S00Do&® dgEyTiro 6.0A00d 1.0AS 0.2508° H&FE08. & Seoho [WoHodd
diien emf 150 Voonsd, Secho @), Sradbo@8dto dend:

Options :
ZH
1.
6 H
2.

O
4H "],Q,\
A
8 H (30
4. S
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A sertes LCR circuit with L :% H and R = 10 Q 1s connected to an ac supply with rms
15 | .

voltage and frequency equal to 200 V and % Hz respectively. The magnitude of

capacitance 1s varied so that current amplitude in the circuit becomes maximum. The rms

voltage difference across the inductor is

L=0.5H %80 R=10 Q fo o8 @5 LCR Socird), ms SF2 5000 28:9850

15
S&Sm 200V Sobosn % Hz ffo ac 365078 ©d0dogrdo BITH. $0050085° g s
Fod H0W8 HOZDHNSLM BIFOBY) Bws), S0Srerd) SrdyTdh. (REso oL &od
ms $'g2 o,

Options :
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3000 V

2500V

2000V

2600V
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The magnetic field of an Electromagnetic wave gbeye the relation in a certain region is
B=10"sin(5 » 10° #) T. where t is the time. whe induced emf. m a 300-tum coil of
area 20 cm’ oriented perpendicular to the

BI0008. ROGS” 15700, Wy Togo 20 cm” $9a S, & § &8 woworr

DFgh0 EON eiSyS3bd, C‘;:ae‘s;@

Options :

D5 E0HA 08 SBoKY) ©oSR08 é@gﬁméw‘. B=10""sin(5 * 10° ) T. Sowowd)
emf

—2x 10 cos(5x10°HV

! I

—3x10°cos(5x10°HV
2

—25x10°%cos(5x10°HV
G
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—33%x10°cos(5 x10°H)V

Question Number : 115 Question Id : 7512364595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The wavelength of a charged particle of mass 8 x 10~" kg. charge 1.6 x10™" C and
kinetic energy 3 keV will be (Leth=6.4 * 107*1s.)

$S55o°3 8 x 107 kg, DeogerSdo 1.6 X107 C 08050 #8248 3 keV o dsogorS33s g0
Sofy, B80rBggo, (h=6.4 % 107" Is. m S8 Kosw)

" 04A
1. Q,\q
2.1A ‘»
. A
: &
. 1.0 é

&
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Let A, and A, be the longest wavelengths observed in the Paschen & Lyman series
respectively. Choose the correct option:

Fgad $o0cin BHS @Bod’ H030oTd edgod FEIS SSorBorger Ap Sodain Ay
©30808, 0508 2sR) ool

Options :

4<1—P<6

h
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7<1—P<8

15<h<16

b

o
}'L

4.
N
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30 <32

Aradioactive nucleus can decay in two differen csses with half life 0.7 hr. and 0.3 hr.
The effective average life of the nucleus in nfiny€s approximately 1s (Let /n 2 =10.7)

o8 BaRrToE Bosko, egedsTup Phioes woan 0.3 fotves Ko 3ok 29%)
BB EairEios. wond SoNRnE, HerSE Hiitn 80, SoSrhT ADTOS'

(In2=0.7e &d80d) &@

Options :

14

18

24
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Assertion (A) : Siand GaAs are the preferred materials for solar cells.

Reason (R) :  Both these materials have energy band gaps much below the energy level
corresponding to the maximum solar irradiance in the solar spectrum.

g (A): D8 Hzo S1H0c5n GaAs en H3oH ST,
580 (R): FESE HL0S'A H0R T8 & gESH50E ErIFS ¥§ Fows & Bod

TGO #8 D8 o TTor §od Golrow.
The correct answer 18 ‘»Q

SO0 BETT B A

(A) 1s correct but (R) 1s incorrect. é
(A) 5853088 579 (R) 5883056

1 @ |
Both (A) and (R) are cotéﬂ and (R) 1s the correct explanation of (A).
(A) Sodasn (R)Bodr 2053052, (R) 0386 (A) S 30508 dddeo.

3
Both (A) and (R) are correct but (R) 1s not the correct explanation of (A).
(A) 508050 (R)Bodr $833053, 570 (R) &38 (A) o 583308 D58 57,
3
Both (A) and (R) are incorrect.
(A) 508050 (R)Bodkr $0G05 5°9.
4
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Question Number : 119 Question Id : 7512364599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The truth table of a logic gate is given below. Then 1dentify the gate

a8 86) TorR8 S5 B8 5ol ANgndod. & Y oor) oBos?

T’

Input Output
QDE TEHE
A B ¥
0 0 1
0 1 |
1 0 1
| 1 0

Options :

NOT gate

&
NOT 850 é

OR gate Q/v.
OR o850 &@

AND gate
AND g8

NAND gate
NAND arqdase

Question Number : 120 Question Id : 7512364600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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A transmitting antenna has a height 20 m. What will be the height of receiving antenna. 1f

the maximum distance between them for satisfactory communication in line-of-sight (LOS)
mode 1s 40 km? (The earth radius 1s 6400 km)

28 BFE 0BT & 20 m LOS dpsoss® Hodys $o50d8 & Suy Erdo KBHom
40 km eSy53c (T soBT) & 08? (Frd Tgrgsn 6400 km)

Options :

25 m

.

30m

O
N
60 m q,b

A
&
45 m é’

Display Number Panel:
Group All Questions: No

Question Number : 121 Question Id : 7512364601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum number of electrons that can have the set of quantum numbers » = 4.
m,=0,and m_= = is
2
]' &
5700800 Dopge JdW8 n=4, m;= 03008000 m = 3 fo K0 oo Jopg od?

Options :
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1
4
2
5
3.
6
4.

Question Number : 122 Question Id : 7512364602 Question Type : MCQ Option Sl@lg : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

N
Which of the following pairs has the identical e@l, Iue?

A

808 zobroe® AVE J5-S e/m Jend ﬁéﬁ?

Options : VE

An o-particle and deuterium 1

2.8 O - §290 0B & 0 WOirQ
i

A proton and neutron

28 ([T 0050 Srgrs
2.

An electron and y-rays

S J)e:@ﬁ 00050 Y- S0
3.

collegedunia
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A proton and deuterium ion
8 @S So0osn $ogeddoio woirs

Question Number : 123 Question Id : 7512364603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reason for a cation to be smaller than its parent atom 1s

2.8 BLOIM TR B8 DAY 08 ANAM G odirds Ao 57800 QD37
Options :

Repulsion between the electrons of outer orbit.
ety BES'R Q@@_‘;S&J 0P V8T S Q,\q
1. W

Increased electrostatic attraction betw “ﬂcleus and electrons.
S0(E85w Hoddin JoEe Doy $6 e85 DHIDEL S

Increase in the mass of @Oﬂ compared to neutral atom.
LY HESre0PHS” FYB 3LAIrS GIgoISt DADEY S

Change in the number of protons of cation compared to neutral atom.
LY DBSrenIE P B BLAFrIS” Prte JopgS” Sorddy S

Question Number : 124 Question Id : 7512364604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the following in the decreasing order of radius:
808 B gy &7 ESSnS” wdodod.

G S b B (G
Options :

Pl il s A K S0
Cl > P> 8- A K »Ca™

Q@
AP 2S5 a0 ™ K q,
3- ¢
K> >0 >F >Ar é)

&

Question Number : 125 Question Id : 7512364 estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Or'¢en : Vertical

Which of the following compounds has the highest dipole moment (D)?

§od S WTred® BIE edhE B Kod |Edosdw (D) eotnod?

Options :
HBr
1.
CH,COCH,
2.
H S
3

collegedunia
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COCl,

Question Number : 126 Question Id : 7512364606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. Match the following.

B0B TE 285K HIw.

o -1 -

(Hybridisation / $08888=050) (Compound/ion / £3> Wlo/eoirs)
A) spd D [PeLj”
B) spid’ m sFs O
C) dsp’ I1I) BC]Q,\

D) dsp’ V) P{l‘,
VZ;QPJ
O

The correct match 1s é
0 2365
Options : @v
A B G
IV II I
i
A B L D
. IV V II I
A B » D
. II IV I 111
A B & D
I 11 IV V
4.

Question Number : 127 Question Id : 7512364607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The nitrogen gas pressure inside a container of volume 2.6 cm’ is 2.3 atm at 27°C. The
approximate number of moles of nitrogen present in the container is:

27°C 3¢, 2.6 I’ 055835700 Ko FES' JE S Tosn HESS0 2.3 atm. FGS* $8)
Sz Irdo Jopg WwIrdHM

[R=0.0821 L atm mol™ K]

Options :

4 x 107

1.7%10°°

4 %107

. 2 x 107* @S

Question Number : 128 Question Id : 75123 uestion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option ation : Vertical

Which of the following statements is NOT correct regarding kinetic theory of gases?

TARYL WVUOL VT 0TS Jowodon) §od IS’ A J0FIH TE?

Options :

Gases are considered as point masses
O3 OW Do (BIFT DT ZTI0T L.

collegedunia

—



Kinetic energy of gas molecules increases with temperature

TORL WO N8RI§ GPNSS” DB,

Total energy of molecules before and after the collisions 1s different
WO JwEo ¥8, T ET OB 5o HBL SHTF ILILM Golnod.

The distribution of molecular speed of a gas remains constant at a particular
temperature

o6 DPR SAAS SG TS Ime HobB JEorr Gotnod.
4. q

Question Number : 129 Question Id : 7512364609 Question Type : MCQ uffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

s

A spherical ball of radius 7 cm contains 56 w% “Find out the number of moles of iron
present approximately m the ball? (d=1.4 G : atomic mass = 56 g mol™)

i

7em sgrgo o HoEs 208" 5 0 2O B, 208T°0N) e Irde Jopg
Qodordom Jod? (d=14gem™ :&«ﬂm B3g0"8 =56 g mol™ )

Options : &%

15.1
1

20.1
2

25.1
3,

35.1

4,

Question Number : 130 Question Id : 7512364610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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One third liter of x M K,Cr,0, 1s required to completely oxidize 2 L of 0. 1 M ferrous
ammonium sulphate in acid medmum. What is x?

s0irS80S’ 2L © 0. 1 M 8 o3mdcho $8)tnuds Fom e§jEdno Mmoot
5066 Sxri5508 x M K,Cr,0, 0558558, 1 Jos?

Options :

0.03

0.1

0.2
3 O
. Q,\

03 &‘lr

4 cg(,

Question Number : 131 Question Id : 7512364611 Questio
Single Line Question Option : No Option Orientation : J

: MCQ Option Shuffling : Yes Display Question Number : Yes

Enthalpy change for freezing o &f water at 1 bar and 0 °C 1s 334 J. Calculate the
internal energy change m J w g of water 1s converted mto ice?

1 bar 358050 0 °C 3¢ 1 g H5D $0de55S0 mIohtrsd Jomdy Sy 3341 1 g &
B0 SrOSYE ©os0E SR Srdy J oot B8 0T0s?

Options :

205

334
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Question Number : 132 Question Id : 7512364612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

; ; : © . ¥
For a chemical reaction. the standard Gibbs energy change. AG ~ is —7.64 x10* J mol ™.
What 1s the value of equilibrium constant (K)?

e
o8 EFoNS g, Pirm AF) B S0y, AG dewd —7.64 x10° T mol ™. SHeps
Troso (K) dood Jod?

Options :

K=1

Question Number : 133 Question Id : 7512364613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following.
Bod TE BSJLS®.

List-1/grde -1 List -1 / e De - 11
(Acid) / (es530) K.)
OH
A) @ h 1z
COOH

B) @ In) 3.«@04
O
C) HCIO ;QWO x 10719

D) CH,COOH §OIV) 6.5 %107
V)

The correct match 1s / &3 W.:

Options :
A B < D
. I II 11 IV
A B c D
II1 Vv II I

i E
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Ne
ve
®
O

I IV V

=

Question Number : 134 Question Id : 7512364614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The heat of combustion (kJ mol™) is highest for

S5re5io (KT mol™) B8 odghES?

Options :
H,(g)
H,(=)

1.

O
H, () q,Q,\

H,(&)
O
LPG @
LPG @v
3.
s
CH,(2)
CH,(=°)
4.

Question Number : 135 Question Id : 7512364615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the bonding nature in LiCl bond?

LiCl 2080&* 208 S0g a0 NTAY,

Options :

gcollegeduniaa
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Pure 1onic
HE ©aSrY

Pure covalent
DG dSoRrada

Coordinate bond
<SRG .’Q_gdﬁ) 2080

Tonic and covalent q
05 DE So8051 BHRBreEDS N

; N
«‘\r

Question Number : 136 Question Id : 7512364616 Question Type_: Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements 1 orrect for group 13 elements?
a.  Alreacts with dil HC] to lib , §as
Al reacts with conc HNO vaerat& H, gas

b.
c.  Boron reacts with Om\, to liberate H, gas
d.  Anhydrous AlICI, reacts With moisture to liberate H, gas

R 13 Sorosross $od IS8 oS’ JB/AD HORBSE/HBBSI?

a. 205 HClS' AlS8gS08 H,aasndd ddode Hodos

b. ¢ HNO,& AlS6gTod H,oroindd ddode Hosnsd

C. sired Ir@d $ors SEgTod H,odindhh ddode Sobose
d. o3 AlCl,, 8%¢8° $8gT0s H,arasnddo ke Dodwdo

Options :

y b.t.a
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a.b.d

2,
a.c
3
a
4,

Question Number : 137 Question Id : 7512364617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If one wants to make methanol out of synthesis gas. what should be the ratio of the
gaseous components in the synthesis gas? -

5 gD $08 NETES: é@&ﬁméaéua&bﬁ mBS'D Db TanPe
A8 J0&? &

1. Q,v,
i i | &%

'JJ
-

Question Number : 138 Question Id : 7512364618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The irritant red haze in traffic and congested places is due to

EET & o8 Poire $orost, ados’ §§ 00 Godd PATOSH WEFDo 0N Y

DIBESS080 578950

Options :
Co,
j 28
03
2.

SOy (oxides of sulphur)

SOy (96 3)Ben) ,@
3. ol ‘»Q

NO, (oxides of nitrogen) Q‘/&

NO, BE5*25 «§)Few) O

Question Number : 139 Question Id : 75123646 &ﬂ Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orie : Vertical

Identify the atoms or groups fréhhe following that exhibit —R effect and +R effect when
present on benzene ring:

BoES S0oow GHIE R Perdo Hdao +R @Pardo (880w dESramnHeso BE
QT (Bod T8 Hod Hovodk.

~OR. -NHCOR, —-CN, -X. -NO,. -NH,. >C=0

Options :
—R effect +R effect
—R Perdo +R Rardo
-NHCOR. -NO,. >C =0 —CN.-OR. X, -NH,
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—R effect +R effect

—R [$zrdo +R RHderdo
-OR, -CN, -NO,, >3C=0 -NHCOR. -X. -NH,
2.
—R effect +R effect
—R (dgrdo +R Herdo
—CN. -NO,. -NH, —OR. -NHCOR, -X, )C=0
3.
—R effect +R effect
—R Hzrdo +R RS0
NN C=0 —OR. -NHC@R —-X. -NH
. 2 / 3 >

Question Number : 140 Question Id : 7512364620 Question Type : M Op% Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A hydrocarbon with molecular formula C g—@g&goes the following reactions:

A. Decolourized molecular bromine. é

B. Reacted with HBr.

C. Addition of ozone and then c@!\ge of the ozonide by Zn/H,O gave the product

C,HO,. &(0

wordner CH do a8 Tr@s e od S8gos” S otnob:

A (EF0S 0P Do BIS.

HBr & $8gS7obd8.

LEIS Sofodo JTodm AL L8386 Z/H,0 Sdoges® &> CHO, &
= PANRTAR

B.
k.

Then. the structure of the hydrocarbon 1s
TEETER Qo0

Options :
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RN

CH,CH,C =CH

/\ Ny

OSQ Option Shuffling : Yes Display Question Number : Yes

Question Number : 141 Question Id : 7512364621 Question T
Single Line Question Option : No Option Orientation : Ver§

The order of stability of below res@ € structures 1s

§08 TEI) QoYY ?Sdei&@éw

® @
(Xm, NH, NH,
S
(D (1) (I1T)
Options :
H>12>]1
L E7
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I 8= 1

Z.
1] -2 | - |
3.
LS I > 1
4.

Question Number : 142 Question Id : 7512364622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following.

A)
B)
C)
D)

Bod T 2SBETI®.

A)
B)
C)
D)

List -1

ABCABC.. layers
Thermodynamic Defects
Farbenzenter
Debye-Scherrer Method

erdea -1

ABCABC..2r8e0

G588 S'Fen
F&ZoBoLd (Farbenzenter)

AB-286 558

The correct answer 1s
"o’.'@_aé DRI GT 0

Options :

A B C
\% I I I

)

é()

List-1II
) F-célyes
1) Ba diffraction
‘\kcancy defects
Semi conductors
Silver
rdo -1l
) F-Bomen
) X- 88 58550
) 29 &'%Ho

V) @-gwt’ms*m

V) ®exd
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2
A & D
\% I
3
A B C D
IV I I \Y%
4

Question Number : 143 Question Id : 7512364623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Calculate the depression in the freezing point of a solution containing 0.1 g of 'K3 [Fe(CN)]
in 100 g of H,0? (molecular weight of K; [Fe(CN)] @Q = 1.86 K kg mol™)
100g o HOS 0.1 go ‘K_,, [Fe(CN) ] Ko @“’é@ BAFSS TS S8 B 00d.
('Is".3 [Fe(CN)ﬁ] esogrdo = 329, K= 1.86 Rk mol™)
Options : v
0 Q/
1. &%

1.223
2
0.0226
3.
0.226
4,

Question Number : 144 Question Id : 7512364624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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A solution of 17.1 w% of sucrose (molar mass = 342 g mol™) is isotonic with a x W%

solution of oxalic acid (molar mass =90 g mol™). Assume the degree of dissociation of
oxalic acid as 0.01. What 1s x?

17.1 W% 3>E°8 (3rers oo ($53078 = 342 g mol™) @ Seswn, x W ss5m)df el
(BrerS w0 G558 90 g MOIT) (EH5e0508° 2R IET &0, 6sOF el IBras
@38 0.0] & eHFI0D0. x Jod?

Options :

9
1.

0.45
2.

O
N
4.41 ‘-\9

0.90 é
4.

Question Number : 145 Question Id : 751236 estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oy en : Vertical

Consider the systems having liquid-sohid mterface. (a) copper wire 1n silver nitrate solution
and (b) silver wire in copper sulphate solution.

Predict which mterface will show spontaneous reaction if
=0.80V?

L

=034V and E, -

¢ o
ECu2+ /Cu

B5-208 ©odb Sodnen Ho SgEgods H0300Tod, (a) Pogd JBE s’ 756 &
850 (b) 5708 $BYE (@ He0s’ dogd 8.

ECu2+fCu =0.34V %8050 EAg+_,,Ag=0-80V ©AD

< o8 gerdn @oéseﬁiégé FEg SrYPSod” esirotod?

Options :
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Copper - Silver nitrate interface
555-0e0 IBE vods Sodn.

Silver - Copper sulphate interface

SEIGR 1) é@géﬁ 2088 Sedw.

2.
There will be no spontaneous reaction
oS g 2.
=,
Both interfaces will give spontaneous reaction ,\g
Bod ©ods Solnes waéEE SEgITow. "\9
4,

Question Number : 146 Question Id : 7512364626 Question : M CQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verti

The decomposition of O, (g) fo]lmn@ﬁrder kinetics and 1s given by:

O, —0,(®+0()

The rate constant for this re @ is 1.0x107 s7'. The initial pressure of 0, (g) 1s
100 atm. What will be the paral pressure (in atm) of O,. O,. O respectively after
38.38 minutes?

0, (77) DBrKS0 JnEE FSro8 KBETRY) FBH08 So8akn Bod aBgwd08.
0,)—-0,E)+0E)

& gy Beo [oroddo 1.0x107 57, O, (7°) &0 LSS 100 atm 38.38 min S
0,.0,. O o 8 DTren (am ©&°) SHIT Jod?

Options :

9D
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10.90.0

2,
10. 90. 90
3.
10. 0. 90
4,

Question Number : 147 Question Id : 7512364627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following.
a. A closed vessel containing 90% CO, and 10% O, is an acrosol.

b.  Milk is an emulsion. q

c.  Smoke 1s an aerosol. N

d.  Peptisation i1s a method of purification of ¢ 1 solution.
€.

Ultrafilteration is a method of puriﬁcatio&f colloidal solution.

808 TES” VBRS Ao Ko o

a. 8 v &) FES” 90% C a0 10% O, oo, 28 o8 Jon&Id.
b. Do af Dol Q/

C. K af Jons'FS, &(0

d  DREGIW, Farond EHnsnds HEBoIN w8 HES.

e. &rf) Aoddn, Forond (@dndnid HRTaw ol HE8.

L

Options :
A b c

b. ¢ €
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a b e

Question Number : 148 Question Id : 7512364628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (A) : Mg can reduce Al O, above 1350° C.
Statement (B) : Al can reduce MgO below 1350° C.

D58 (A): 1350° C 808 289,35 e ié 5§ AL O, S Mg gohidao mows.
D582 (B) : 1350° C 808 &8,S s S8 MgO & Algchdao mloshs.

The correct answer 1s
DOGS S Boegrdso ’\q
Options : ‘»Q
Both (A) and (B) are wrong. &
(A) 50800 (B) e 383080 5°3). ()Q/

' $

(A) 1s correct. but (B) 1s wro
(A) %6056 50 (B) @9@
2

(A) 1s wrong. but (B) 1s correct.
(A) J8GDIB 5760 57 (B) So0&58.

Both (A) and (B) are correct.
(A) S08ci0 (B) oo 5883085a.

Question Number : 149 Question Id : 7512364629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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. Match the following / o8& & 2858 S0,

List-1/z=8a -1 List-1I /8 - 11
Acid / Reagents used for preparation /
&850 S0 BRoS0bLE GIBTRo TEETen
A) H,PO, I) RedP,+ alkali
JE P+ s
B) H,P,0. II) White P, + alkali
8o P, teed
€) HPO, oIy PCL . H.PO,
D) H,P,0, ) 20 )@

V) Hﬂ)? A
e &
€ COITCCT answer 15

O

P08 DAFFTIID é
Options :

A B ®© &
. & ‘B &
A B ®© D
, O Iv m I
4 B € b
., I W W W%
A B C D
I I Vv
4.

Question Number : 150 Question Id : 7512364630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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XeF, is square planar while XeF  has a distorted octahedral structure. What is the correct
explanation for this observation?

XeF, 3% 8o $568050 5o XeF ddrdno 088 oldndad o) §7 eodol.
& HB30SB JOGX DB I8?

Options :

Both molecules have one lone pair of electrons.

Tody L)oo a8 2otd Q@@SE 28 €I,

Both molecules have two lone pairs of electrons.
S0l @m)oB Bolk wokd JoEge Bdw &33®

2. WQ
XeF, does not have any lone pair of elec@&:}(elﬂs has one lone pair of electrons
on Xe.

XeF, % 20b8 Q&J@ﬁ 2ot B )%)‘ Xe a8 wobd Qw@fﬁ 20 Sed.

3. :
XeF, has two lone pairs of&@m‘s on Xe: XeF, has one lone pair of electrons on
Xe.

XeF, & Xe Todo wodd Q&)@;S zden Soy); XeF 5" Xe w8 wodd 00@’5
238 S,

Question Number : 151 Question Id : 7512364631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following.
List-1
A) Oxidation state of V in VOCI,
B) Number of unpaired electrons in MnO,”™ ion
C) Number of unpaired electrons in [NiCL]*" ion
D) This oxidation state is exhibited by all lanthanide 1ons

508 T8I 2SBS0 Hw.
e -1
A) VOCLeS* Vebisn 38
B) MnO,” ecs»Ss* sotd dOFIO Hopg ,9
C) [NiCLF eosirSes* aobd dogse Sowg Q)
D) & =888 28 ©Q) TToEI @oﬁrﬁe&’}%oﬁ)&

™

The correct answer 1S

[0S DBrErHBD Q/v'
&

Options : 5
A B

\Y% I Y

%3 O

A B

List - 11

S E
N & W Uh ==

$2E
B o W Uh

1 E
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Question Number : 152 Question Id : 7512364632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The name of the compound 1([Ag(NH3 )2:| [Ag((‘ N)z]) is

(| Ae(NH,), |[Ag(CN), ]) 008, %5

Options :
dicyanoargentate (I) diammino (I) silver.
33005 wZoBE (I) e’ (I) degd

diamino silver dicyanate

D
3o Db BODLIEL ‘»Q

diammine silver (I) dicyanoargentate
3R ce0d (I) 3dchs @Qoaé é

3 @
silver diamminedicyano ‘&at&
2008 Bean FOoHS' ©PoBE

Question Number : 153 Question Id : 7512364633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the following.

List -1 List-1I
A) 4CH,- CI =CH-CH, }, I) Cross-linked network
Cl
B) Nyloné6.6 II) Elastomer
) HBP III) Fibre
D) Melamine-formaldehyde IV) Ziegler-Natta Catalyst

1808 TR 2BSRE0LD0

e -1 e - 11

A) '+CH2-—L;=CH-CH2 Y, D $35Qymomes’ s
Cl

1
B) 3°356.6 W\ o YPHE
C) HDP C’an ek

D) HoDS-Fo0wE @ IV) 286-vtr e@)déo
The correct answer 1s Q/
508 HErGEB50 ,@
Options :
A B C D
1 AY I I I
A B » D
5 M I IV I
A B C D
5 I I I IV
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Among the following B group vitamins. the deficiency of which one results in convulsions.

808 Biird dbdRes® RS H0 S0l Hwodo &Ko Senodo

OptiﬂE;
Bl?_

. 2
B, q,

3 &

4. S

Question Number : 155 Question Id : 7512364635 {%wn Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orie ertical

. Methacetin (4-methoxy—acé~nhde) B s drug.

DERES (4278 IVETrIBE) B30I oo 50080,

Options :

An antipyretic
200°Q) Show (antipyretic)

Narcotic

57,838
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An antiseptic

P8RS
o

Disinfectant
B HoH6e3

Question Number : 156 Question Id : 7512364636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

- Identify the correct order of reactivity of the following haloarenes on treatment with

NaOH?

§0d FS'A0IwH NaOH & S¢g 20088 578 S0508 @ué B0 B0 Mfokod?

>

Cl Cl Cl
O,N &

NO

2 2

NO,

NO, NO, v,
(a) (b) (c)
,{o

Options :

e > R >H>D

y I
a > c >4 >0
2.
B >4 > 8g>%#
g
b > e >80 208
4.

I
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In the following reaction. the major products are

Eo8 BEES” RFD ST

i,

Options :

| .
o B
@/cm | 5

Question Number : 158 Question Id : 7512364638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Identify the method that gives benzyl alcohol?

BoBS wo)yFSH aB) HFEJ HBowod?

Options :

1) CrO,CL,CS, .
2) H3O+

P
(C;Eg;:.NaOH ()Q/
A q,é
&
CO.HCI

Anhyd AICL /CuCl
(Do)

@/CH3

CHO - oo
(j Pd—BasO, ,\0)
: _CHO

Question Number : 159 Question Id : 7512364639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Statement (A) : Carboxylic acid can be obtained by the reaction of R—C = N with

D . . -
H,O under mild reaction conditions.

© o
Statement (B) : Hydrolysis of R—C =N in alkaline aqueous medium gives R — COONa

and NH, as products.

@D
D58 (A): R-C=N& H;0 & Soy3s wog D0RPES" W 2008 so0§)Of
8300 Ddséo?&a.
_ 0o
D582 (B) : R-C=N & 5¢ zodirdfos’ zodddom Ty R-COONa Kook

NH, o sdyment 2808,
N

The correct answer 1s ('VQ
BOGS HIrFHBw Q’}
O

Options :

Both (A) and (B) are correct. é

(A). (B)Bokr 0G0, Q/v.
,\(o

Both (A) and (B) are not correct.
(A). (B)Bodr H0505D 9.

(A) 1s correct. but (B) 1s not correct.
(A) 85058, 50 (B) H05038 5260

(A) 1s not correct but (B) 1s correct.
(A) S8SG 5780, 577 (B) S653036.
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Question Number : 160 Question Id : 7512364640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

BSY/3BS S6grIR Bowr§wrEi BoFIB/EM™ Srg)Suin?

Options :

o

NH,

NH, followed by reaction with C ,H.SO,Cl
NH, &, 86058 CHSO,Cl&* &6

3

NH,OH followed by reaction with acetic anhyds
NH,OH &, 858 208 d5i@se ség, S

NH,OH

A
&
S
&
&2

Benzaldehyde can be converted to benzonitrile by treatment with

O
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